Every tree has

exactly one tent tied
to it, which is in a
horizontally or vertically
neighbouring square.
Also no two tents are
in adjacent squares,
not even diagonally.
The numbers outside
the grid show how
many tents are in each
row or column — can
you deduce where the
tents are placed?
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This puzzle may be printed or copied solely for personal use. © Puzzler Media 2008.
This puzzle may not be reproduced in any other form without the written consent of the
publishers. The puzzle appeared originally in Tough Puzzles.
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